pure substances
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The wateC in a contoiner has +he pressure of 2 boc
ond +the specific  volume of 095m¥kg. Tetermine:

The total volume of water in a boler is 2000k .
Water is at 200LFa. If +h€ volume of +he lquid phase
isl 20% ol +he +otal volunre, 4nen calculare +ne:

A the Phose ol woter \/
b) the +emperoture of water
o) entholpy of water

a) — two intensive properties are used 4o define He stote of
a pPure gubstance.

L) (€ 200 kfn)
P=2 or
> v=0.95 m¥kg

=> look at e table A-5
—> checl +ne specific volume corvesponding 1o +he given pressure.
L» Vp=000106d m¥%g , Vg=0388578

V) \/3 =2 iisS sup_e_rheaied VG POr

—> from Superneoted woter +oble:

P=024t0
M (VY m¥/g (n) Yikg
120.24 0.83578 27F0b.3
T 0.95 h
150 0.95356 27631
near interpolodion:
by 11202 _ 095-08857 i e
) B0-1202l  095980-08gsTR ) W ZFE {4603 12021
2%694-2706.3  150-120.24
T=1hb.03°
— W=2F607F L]/g

—

Q) temperoture W .z
b) total mass Vet 1O
c) quau’+9

d) speciffic volume
HE phose s sotuvoted  wixture
o) P=200tFn , T=Tgot=1202{C

b) Y=2000L, W _02 =\=02-2m>

2Zm=* Vool = 04m?3
Uo <2-0.4 Ym?*
Vp=0.001061
Vg = 0.835F3

Ve _ O4 277
Vﬁ“ "M = 50010 “3 ([ mioior = 377+{506kg

= 8¥8.8306

Ve _ 1o _{sobk
w 0 .

0.88548
c) x= Mgy _ 1806 _ poous
Miotol, 3+3.-306 =

D=V 5_2

— 0.0052 m7kg 15t uoy
m 378.806

V=Xvg +(1=)Vp 2nd way



